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And we derive from this, that ‘majority’ is Torah ruling

OVERVIEW

X127 inferred from the ruling of X»11 "3 (that the M99 R¥NIT Q7 1s 77N 12 XHWVY),
that it is a 770 ruling to follow the majority. 101N explains the need for such an
inference.

- 219 Y5YYT NI DY YN

X127 considers the 71711792 X117 27 as a 217 which is not before us? -
= MOLNY D229 99NN 429N KIPT NI YNV PTI1IY 7298 NY 11997 NININT NAYI21

For regarding a 2P Xn°X7 X219 we do not need the inference of this »''w from

n"9, since the o8 clearly states, ‘go after the majority’ -
= N2 902 D7 199N NN 19 NI YT RN 22) (0w x,x0 97 PDINT NNIAP P99 799995

As the X3 asks in the first o5 of 1 noon regarding this which the =723

queried; from where do we know this which we say, ‘follow the majority’ -
:1IVNY D39 SINN 525N37 )9 N3 75999

And the X773 there asked, ‘you question from where we know it; it’s obvious, for
the 77N writes nw» 2939 NN,

SUMMARY
The case of M52 07 is a 1P ®¥N°%7 R (for which there is no explicit p109).

THINKING IT OVER
1. mooIn asked previously® what is the novelty of X1°11 '3 that R 797 21921 21
2177 when we already know this from the Xn>12 of n1°am 'v. However according to

! See the n"27 Mzt at the end of the previous yawn 7"7n (TIE there footnote # 13. Accordingly, this is an
independent '01n and not a 7"
2 There are two types of 211, one is a 7P XMPR7T XM (a majority which appears before us), and a 1P X°27 RaM. A
TP RNPRT 821 is for instance the case of N1°1n 'v where we see the majority, or when a majority of a "7 n°2 rules the
same. A Jap Xn°27 X2 is for instance when we say most women become pregnant; this is a statistical majority, we
do not actually count the women who become pregnant and those that do not. Similarly, here too, when we maintain
that the blood of the 71pn is a 217 compared to the a7 of the 7% it is a P ®N*27 8211, we did not actually measure
the blood in her body and decide which is the 217; rather statistically there is more o7 in the 371 than in the 793.
3 xan therefore derives that in all other cases of 17 ¥n°%7 X217 we follow the n"mn 210,
413,30 (o"vown) NMnw.
3> The X3 there explained its question; of course regarding a 9 XN°X7 X217 there is no doubt for we derive it from
this p109; our question was by a 1P &n°27 X217, Similarly, here we must say that X237 derived from n" that we follow
the n'"n 21, even by a np XN°77 X217, for which there is no clear p10o.
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what n1901n 1s explaining now that there is a difference between 1 Xn°X7 8217 and
MR RN°27 X211, we can simply answer that Nvan 'v is a case of a 1P Xn°R7 8217 (for
which there is a ?109), however 11"7 maintains that we follow the 217 even by a X210
TP ’n°97! What is mo01n question?!’

2. Do we assume that the case of M52 07 is a JAp XN°HT X211, because otherwise
there will be the difficulty on X217 that there is a P09, so there is no need for
deriving it from X»1 ", or that (even without this difficulty) we assume
intrinsically that the case of 2171792 07 is a 1P X927 8217 (without outside proofs)?

3. Moo states that M52 27 is a P XN°27 XA, for if it were a Jap RNOXT XA,
why the need to infer from n"7. However, one can argue that really it is a X210
P Xn°X7, and when X271 said that Xn»7X7 82177 2"w he was following his previous
n"w that 21797 IR 7127 21991 210 and then he adds that this 2177 X 127 against a
P 1s XNPRTA. It is necessary from X217 to derive it from 11"9, for the P10 only
teaches to follow the 217 against the vV n, but not against the vV¥°» which is 217p;
this we derive from X171 27 that we follow the 217 even against a ©V¥» which is
P!

6919 7"72 3,30,
7 See R"wI.
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